Answers

S 10 IS 20 25 30 35 40 4S5 SO @

1 2 3 4 5 6 7 8 9 10

11 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30

31 32 33 34 35 36 37 38 39 40

41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50

There are $ toes on each foot.
There are 7 feet.

There are 3S toes altogether.

Lin is correct. There were S boxes of S cakes which is 2. Kim could not
SIS

be correct as 24 doesn’t end with a zero or five. Jas isn’t correct as 20
cakes would only fill 4 boxes.

Grandma could have filled 2, 3, 4, S or 6 boxes.
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